N = 109 N = 110 N =111

109 circles in a square 110 circles in a square 111 circles in a square
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radius = 0.049060056454  density = 0.824199710946 DEsmr radius = 0.048779469321  density = 0.822274269044 Q&% radius = 0. density = 0.82514 7 Desmr
ratio = 20.383180784367 contacts = 238 ratio = 20.500428026984  contacts = 285 ratio = 20.557546842294  contacts = 225

N =112 N =113 N =114

112 circles in a square 113 circles in a square 114 circles in a square
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0.048445405903  density -0525796605519 E swor radius

20.641792165122  contacts = s ratio =
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radius
ratio

0.048257568494  density = 0826722100561 Q&P radius
20.722129538936  contacts = ratio

0.048167755522  density = 0. 630935040404
20.760776356575  contacts =

N = 115 N = 116 N = 117

115 circles in a square 116 circles in a square 117 circles in a square
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radius =  0.047914247537  density = 0.829424877813 D Esmn radius = 0.047775960994  density = 0.831814956319 DEsmn radius = 0.04 density = 0.

ratio = 20.870618895483  contacts = 282 ratio = 20.931028475321  contacts = 249 ratio = 20.989210315772 contacts = 262

N =118 N =119 N = 120

118 circles in a square 119 circles in a square 120 circles in a square
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0047520021501 density = 0851658165015
21.039378280585  contacts = 24
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0047572362680 dersi ty = 0838960130130 Q5% radius =
21.020608261960  contacts = ratio =

0047544546218 dersity = 0845084370635 DErm radius

21.032862362894  contacts = ratio o=



